Situation 1 pts tps
Bl juliette/claire 5 29
B2 clément/éva 5 39
B3 héléne/marie 4 38
B4 colin/grégoire 4 39 )
B5 laurine/gaétane 5 38

tps moyen (en minutes) 36,6
pts balises | 23 46
Situation 2 pts tps
Bl juliette/claire 6 44
B2 clément/éva 6 29
B3 hélene/marie 6 28
B4 colin/grégoire 6 32 30
B5 laurine/gaétane 6 18

tps moyen (en minutes) 30
pts balises | 30 60
Situation 3 pts tps
Bl juliette/claire 12 38
B2 clément/éva 18 30
B3 héléne/marie 17 30
B4 colin/grégoire 19 28] 127
B5 laurine/gaétane 13 30

tps moyen (en minutes) 31,2
pts balises | 79 158

G6 TOTAL 166




